% & @ ﬁ fyra decimaler, ordningsf6ljd med parenteser

namn: Datum: Poing:
(10+5-3,5)x 4,4 = 5+5,4(3,9-5,8) =

2,4-3,8(6,9 —6,6) = 6(4—4,3)+3 =
(12+6+5,8)x2,1= (18+6+6,6)x 6,3 =

24(6+6,1)+ 6= (12+6-2,2)x2=

62,8 —6)+2 = (6+2—4,9)x6,5=
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v‘j @% @ ﬁ fyra decimaler, ordningsfoljd med parenteser
namn: Datum: Poéng:
(10-5-3,5) x4,4=—66 5+5,4(3,9- 5,8) = —5.26
2.4-3,8(6,9 - 6,6)= 126 6(4—4,3)+3 =06
(12+6+5,8)x2,1=16.38 (18+6+6,6) 6,3 =6048

246+ 6,1)~6 =484 (12+6—-2,2)x2=-04
6(2,8—6)+2=-9.6 (6+2—-4,9)x6,5=-12.35
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